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QUESTION 1

A day trader noted that the value of a particular foreign currency pair fell from 1.32075 when the markets opened on
Monday to 1.29620 when the markets closed on Friday. 

By how much did the value of the currency pair decrease during the week, rounded to the nearest thousandth? 

A. 0.0246 

B. 0.024 

C. 0.025 

D. 0.02455 

Correct Answer: C 

 

QUESTION 2

Sebastian purchased a brand new car three years ago for $35,000. The following year its value was estimated at
$23,850, and the year after that the price dropped to $20,400. 

Approximately what was the percentage change in the value of Sebastian\\'s vehicle between one year and two years
after its purchase? 

A. -42% 

B. 86% 

C. -14% 

D. 14% 

Correct Answer: C 

 

QUESTION 3

Restaurant customers tip their server only 8 percent for poor service. If their tip was $3.70, how much was their bill? 

A. $46.25 

B. $44.60 

C. $40.15 

D. $50.45 

Correct Answer: A 
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QUESTION 4

Referring to the graphic, what is the meaning of this statement? "Median household income was roughly $51,000." 

A. The average of all the reported household incomes was $51,000. 

B. Most of the households had an income of $51,000. 

C. Half of the households reported an income below this level and half reported an income above this level. 

D. The average household income was $51,000 less than the maximum household income. 

Correct Answer: C 

 

QUESTION 5

The town of Greenbody received 10.8 inches of rain in March, 5 inches in April, 3.47 inches in May, and 

0.9 inches in June. 

What was the town\\'s total rainfall over this four-month period? 

A. 14.92 

B. 20.17 

C. 40.17 
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D. 4.69 

Correct Answer: B 
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